[D:9:9:9:0:9.9:9:0.9:9:9.9:9.0.0:9.9:9.0.0.0.9.9.9.0.0:0.9.9.0.0.0.9.9.9.0.0:0.9.9.0.0.0.:0.9:9.0.0:0.9.9.0.0.0:0.9.9.0.0.:0.9.9.0.0.0:0.9.9.0.0.:0.9.9.0.0.0.:0.9.9.0.0.:0.9.9.0.0.0:0.9.0.0.0:0.0.9.0.0.0:0:9.9.0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXKXXKXXXXKXKXXKXKXXKKXXKXKXXKKXLKK XL KK XL KK KK KK KK KK XK KKKKKKKKMSE /1-6600305-00001XX
TrigonometryExercise5 for No.9594

3 3 )
A= arcCos(%J 2=arcSin(-1) 3= arcCos(— %J

3
Nol =| 4= arcTan(— T] .S =arcTan(0) .6=arcCos(0) |,

2 -1
7= arcSin[%] .8 =arcSin(-2) 9= arcSin[;J

~NQE® -5y

.1 = Tan(arcTan( —«/;)) 2= Sin[arcCos[LD 3= Cos[arcSin

2

-1
4= Tan(arcSin[;D = arcSm( Sln( jj 6= arcSin(Cos
No2 =
11 =
7= arcSin[Sin( p J = arcCos(Cos( J 9= arcTan(Tan
b

3 13
0= Cot(arcTan(— TD Al = Csc[arcCos(Sm[ p Dj 2= ArcCos(Sin[ArcCo [
_ ﬁ o _
.1 = Tan| arcCos T .2 = Sin| arcTan .3 = Csc| arcCos| ;

No3=| 4= Cos(arcSin[— @D 5= Cot[arcSm[ .6 =Cos( arcTan(—«/g))

)
(2 2 ) 1
7= Tan(arcSm[gD 8= Sec(arcTa (? j 9= Sm[arcCos(ED

[ 1 2 3 -1
= Sin(arcCos[‘J + arcSinE—D 2= Cos(arcCosE—j + arcSin(—jj
6 3 7 3
4 4
No4 = 3= Sin(Z arcCos[;D 4= cos(Z arcCos(;D

.S =arcTan(Cos(2 n) + Sin(-3 ®)) .6= Cot(arcCos[Sin(— 1761r D + arcSin[Cos(— gDJ

I N7 N
[\8]
w|;l N|§|
N SO N—— N

-
[
3
~—

~~NQSX®=-~-°8K

N|§|
N—
N
Ne—

~NCE®s-~s ¥

S NQE®s~18 &

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQX ~NCX
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TrigonometryExercise5 for No.9608

3 Y
A= arcSin[%J .2=arcSin(1) 3= arcSin[;j

2
Nol=| 4=arcTan(1) .5= arcCos[— TJ .6 =arcTan(0)

1 .
7= arcCos(EJ 8= arcSm(«/;) .9 =arcCos(-1)

e

[ I3 (-1 1 M
.1 = cos| arcCos 7 .2 = Cos| arcSin ; .3 = Tan| arcCos 5 a
. ﬁ 5w . b !
.4 = Sin| arcCos| ——— .5 =arcCos| Cos| —/— .6 = arcSin| Cos| — h
No2 = 2 6 4 > 5 @
o (1= 8w 1= M
.7 = arcSin| Sin| .8 = arcCos| Cos| —/— .9 =arcTan| Tan| —
6 3 6 U
. Tn . -1 T
.10 =Csc(arcTan(-1)) .I// =Tan| arcSin| Cos T .12 = ArcCos| Sin| ArcCos| ? )
"
2 . I3 (-1 a
.1 =Tan| arcCos| 7 .2 = Sin| arcCos _T .3 = Cos| arcSin ? t
h
1
No3=| 4= Sin(arcTan(ZD .5 =Sec( arcTan(«\/E)) .6=Cos(arcTan(-5)) |, .|l @
1 4 V3 "
7= Tan(arcSin[—D 8= Csc[arcCos(—D 9= Cot[arcSin[—D u
L 4 5 7 )] T
L/
Far]
[ _ 1 (4 2 (-4 a
.1 = Sin| arcCos| — | + arcSin| — .2 =Cos| arcCos| — |+ arcSin| — ¢
4 9 3 5
5 1 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| ~ , .| @
7 2
M
. . 11n ) 107
.S =arcTan(Cos(2 ©) + Sin(5w)) .6 = Csc| arcCos| Sin| — p + arcSin| Cos| 3 U
L - T
/

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcCos(a.)),

b

NQE NQOR
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TrigonometryExercise5 for No.9646

C ]
3 3 a
.I =arcTan(1) 2= arcCos[— g] 3= arcSin(éJ ¢
3 ;
Nol=| 4= arcTan(— —] 5 =arcSin(-5) .6=arcSin(1) || .|l @
3 M
(42 1 U
.7 =arcSin| ———— .8 =arcCos(0) .9 =arcCos| ~
L 2 2) | T
!
_ [ | C ]
.1 =cos| arcCos 7 .2 =Sin(arcTan(1)) .3 = Cos| arcSin| 5 a
-1 5n ) i !
.4 =Tan| arcCos| — .5 =arcCos| Cos| —/ .6 = arcSin| Cos| — h
2 6
No2 = > B @
[ 17m Sn
.7 = arcSin| Sin| .8 = arcCos| Cos| .9 =arcTan| Tan| - —— M
i EaN
3
0= Sec[arcSin(TD .11 =Csc arcSm(Co ( Dj A2 = ArcCos(Sin(ArcCos(TD] 7;
]
(s 5 a
.1 = Tan| arcSin T .2 =Cos| arcSin| g .3 = Cot(arcTan(7)) ¢
h
3 -1
No3 =|.4=Sin( arcTan(ﬂ/_ 3)) 5= Tan[arcCo (ED Cos(arcTan(;D , .| @
M
‘ I3 3 -5 U
.7 = Sin| arcCos| —— .8 = Sec| arcCos| ~ .9 = Csc| arcSin| —
L 7 5 9))] T
L -/ .
Far]
i _ 1 (1 1 (3 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| — | + arcSin| — ¢
2 5 4 4
4 1 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , .| @
9 6
M
. In (Tn ) b
S= arcTan[Cos(Z )+ Sln[— TD 6= Sec(arcCos[Sm(?D + arcSm[Cos[— ;)D U
L - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
0003]
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TrigonometryExercise5 for No.9649

1 = arcSin(-1) 2= arcSm( j .3 =arcCos(0)

S R

3 1
Nol=| .4=arcCos(7) .5=arcCos [g] 6= arcSin(Ej
A2
2

.7=arcTan(-1) .8= arcCos[

j .9 =arcTan(0)

~NCE@T 8 g

_ 1= Tan(arcTan( ﬁD 2 COSLMCSH{_ @J

T .3 = Sin(arcTan( _.\/E))
«/_ b b
4= Tan(arcCos(— —D S= arcSin[Sin(—D 6= arcCos{SinL—D
2 4 6
N02 = B s
. In 107
7= arcSln(Sm[ p jj = arcCos(Cos( 3 j 9= arcTan(Tan[ jj
(-1 Sn «/_
.10 = Csc| arcSin E .11 = Cot| arcCos| Sin| ? .12 = ArcCos| Sin| ArcCos T

A= Tan[arcCos( ﬁD 2= Cot(arcSin[%D .3 =Cos( arcTan(ﬁ))

M

a

t

(ol )] sesafmcol 2)] orn{omsal 2]

No3 =| .4=Csc| arcCos .5 = Sin| arcCos| — .6="Tan| arcSin| — |||, ,|l @
6 5 M

U

T

/

N~
1
1
|

(9%}

Ju—

~NCE®=~a %

[serals)) a-cofsf L) o
.7 = Sec| arcTan .8 = Cos| arcSin —T .9 =Sin(arcTan(-3))

M
[ , 3 (-1 5 (5 a
.1 = Sin| arcCos| — |+ arcSin| — .2 =Cos| arcCos| — | + arcSin| — ¢
8 4 9 9
3 5 h
No4 = 3= Sin(Z arcSin[—D 4= 005(2 arcSin[—D ., .| @
4 9
M
. . 137 ) 13=n
.S =arcTan(Cos(m) + Sin(3 )) .6= Sec(arcCos(Sm(— TD + arcSm(Cos( 3 Dj U
L 4 T
L/
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9669

X

Far]
a
3 2 -1
A= arcCos[L] 2= arcSin(LJ 3= arcSin(—j !
2 2 2 h
Nol=| 4= arcTan(«/;) .5 =arcSin(0) .6=arcTan(-1) |, .| @
2 M
.7 =arcCos(-1) .§=arcCos(-7) .9= arcCos[— g] U
T
(. -/ -
[ (1 V2 . 1 1 [M]
.1 = Sin| arcSin ; .2 = Tan| arcCos| 7 .3 = Sin| arcCos| E a
5 t
b . b
.4 =Cos( arcTan(«/;)) = arcCos(Cos£7D 6= arcCos[Sm(— E j h
No2 = > s @
. Sn 11n 137
.7 =arcSin| Sin| - —— .8 = arcCos| Cos| .9 = arcTan| Tan| M
6 3 6 U
1 . 47 . (1 T
.10 = Csc| arcCos 5 .11 =Tan| arcSin| Cos T .12 = ArcSin| Cos| ArcSin 5 )
F ]
3 (- . (s a
.1 =Tan| arcCos| — T 2 = Cos| arcSin| ? .3 = Sin| arcTan| — T ¢
-1 5 3 h
No3=| 4= Sin(arcCos[—D 5= Cos[arcTan[—D 6= Cot(arcCos{‘ J , .| @
3 6 5
M
. ﬁ (2 U
.7 = Csc| arcSin T .8 =Sec(arcTan(-7)) .9 = Tan| arcSin g T
L/ ]
Fur]
[ . 2 (3 1 (-4 a
.1 = Sin| arcCos g + arcSin| g .2 = Cos| arcCos| 5 + arcSin| 7 ¢
1 3 h
Nod4 = .3 =Sin| 2 arcSin| ~ .4 =cos| 2 arcCos| = , .| @
2 7
M
. 3n (17n . 10w
.5 =arcTan| Cos(5 ) + Sin —T .6 = Sec| arcCos| Sin| p + arcSin| Cos U
L - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9717

o7a
a
A= arcTan(—ﬁ) .2 =arcSin(1) .3 =arcCos(7) ¢
[ A3 h
NoJ — .4 =arcTan(0) S =arcCos(-1) .6= arcSln[ 5 j e
V2 (1 )2 M
.7=arcCos| ——— | .8=arcSin| | .9=arcCos| —— U
2 2 2
T
L -/ _
([ 3 2 ]
.1 = Sin| arcSin ; .2=Cos| arcTan| ——— .3 =Tan| arcCos| ——

3 2 D
.4 =Sin| arcCos| ———— .5 =arcSin| Sin| — .6 = arcCos| Sin| —
2 3 4
N02 = B s
. (17m 4n 137
7= arcSln[Sln( p D 8= arcCos(Cos[Tj 9= arcTan[Tan[ p D
3 137 B
.10 = Csc| arcCos| 7 .11 = Sec| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos| ?
t
/

~NQE®=~s8 K

[ M
3 5 , A2 a
.1 = Csc| arcCos| ; .2 = Sec| arcTan g .3 = Sin| arcTan T

h

1 -1 5
No3=| 4= Tan{arcSin(—D S= Cos(arcTanE—jj 6= Cos[arcSin(LD , .| @
6 7 7 M
w/; . 5 (4 U

.7 = Tan| arcCos T .8 = Sin| arcCos| 5 .9 = Cot| arcSin| ?

T
[ . 5 (-1 1 (1
.1 = Sin| arcCos| ~ |+ arcSin| — .2 = Cos| arcCos| ~ | + arcSin| —
7 6 3 2
. 1 (3
No4 = 3= Sm(Z arcCos[ED 4= 005(2 arcSm(ZD

. . T . 8n
.S =arcTan(Cos(4 n) + Sin(w)) .6= Cot[arcCos(Sm[— 7)] + arcSm(Cos(TjD

~NCRK®=-~=8 X

No5 =Sin(2 arcSin(a)),

b}

No6 = Cos(2 arcSin(a.)),

b}

No T NCKX
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TrigonometryExercise5 for No.9763

Car]
a
| (A2 (A3 :
.1 =arcSin(-1) .2=arcSin| ——— .3 =arcSin| —/—
2 2 h
Nol =| .4 =arcTan(-1) .5 =arcCos(0) 6= arcTan(«/;) , .| @
1 I3 M
.7 =arcCos(-5) .8 = arcCos 5 .9 =arcCos| — T U
T
./ a

.1 =Tan( arcTan(«/;)) 2= Tan[arcSin(— gn .3 =Cos( arcTan(—«\/;))

-1
4= Sin(arcCos(—D 5= arcSin(Sin[ D 6= arcCos(Sin(— ED
No2 = 2 6
h 17n 51 Iln S
7= arcSin(Sin( p jJ 8= arcCos(Cos(TjJ 9= arcTan(Tan[— jJ

6

3 (1 . (A2
.10 = Sec| arcTan| —T .11 = Cot| arcCos| Sin| ? .12 = ArcSin| Cos| ArcSin

[Q ([}n - sofmsif2)]
No3=|.4= Tan(arcSin[TSD S= Sin[arcCos(TSD 6= Sin(arcTan[%Jj

[msely)) s-cufweral )
.7 = Cos| arcSin| E .8 = Csc| arcTan| T .9 =Cos(arcTan(6))

w |3

~NCE®s~s ¥

~

M
a
t
h
@
M
U
T
!

M
[ 1 1 1 -5 a
.1 =Sin| arcCos| ~ |+ arcSin| © .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 2 2 9
1 5 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcCos| ~ , .| @
2 9
M
(2l= ) Tn . 8
.5 =arcTan| Cos(5 1) + Sin 5 .6 = Csc| arcCos| Sin| — T + arcSin| Cos T U
L - T
L/
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T

X [Page = 0007] XXXXXXXXXXXXXXXKXXXXXXXKXXKXKXKXXKXKXKXKXKXKXKKKXKXKXKXKXKXKXKKKXKKXKXKKKXKKXKXKXKKXKKXKK KKK KX KXKKKK




):9:9:0:9:9:0.9:9.9.9:9.9.:0:9.9.9.9.9:0:9.9:9.9.0.:9.9:0.0.0:9:9,9.0.0:0.0.9:9.0.0:0.9.9.0.0:0.9.9.9.0.0:0.9,9.0.0.:0.9.9.0.0.0:0.9.9.0.0.0.9.9.0.0.0.:9.9.0.0.0.:0.9.9.0.0.0.:0.9:0.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.0.0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXKXXKXXXXKXKXXKXKXXKXKXXKXKXXKK XL KK XK KK KL KK KKK KKK KK KX KKKKKKKKMSE /1-6600305-00008%XX
TrigonometryExercise5 for No.9877

X

C ]
3 2 a
A= arcCos[%J 2= arcTan(«/g ) 3= arcSin(gJ ¢
3 -1 h
Nol=| 4= arcCos[— —] .S =arcSin(-1) 0= arcSin(—] , .| @
2 2 M
3
7= arcCos(—«/g) 8= arcTan[— T] .9 =arcCos(0) IZJ"
i . !
i 1 (A3 . ) M|
.1 = cos| arcCos| 5 .2 = Tan| arcSin| — 5 .3 = Sin| arcCos| —T a
T T !
.4 =Cos(arcTan(-1)) S= arcTan(Ta (— j 6= arcSin(Co (— j h
6 4
No2 = > s @
177 1
7= arcSin[Sin(TD 8= arcCos(Cos[ jj 9= arcTan(Tan[— j M
U
-1 S5n ) . 1 T
.10 = Sec| arcCos| ; .11 =Sec| arcCos| Sin| ? .12 = ArcSin| Cos| ArcSin 5 .
_ M_
[ 3 1 2] a
A= Tan[arcCos(—D 2= Cos(arcSin[—D 3= Tan[arcSin(—D p
8 3 5
[ h
2 3 4
No3=|.4= Sm(arcCos{ D 5= Cos[arcTan[—jj 6= Sec(arcCos[—jJ , | @
7 7 9
M
(s 7 . U
.7 = Csc| arcSin| T .8 = Cot| arcTan T .9 = Sin(arcTan(-2)) T
L /]
Cur]
I . 1 (1 5 (-4 1 a
.1 = Sin| arcCos| ~ |+ arcSin| © .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 2 6 5
3 5 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| — , | @
7 8
M
Tn ) Il . Tn . 2
.S =arcTan| Cos| —/ |+ Sin| - —— .6 = Sec| arcCos| Sin| —— | |+ arcSin| Cos| ——— U
L 2 2 6 3 | T
./ .
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No5 = Sin(2 arcSin(a.)),

No6 = Cos(2 arcSin(a)),
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>

b}

NOENQE
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TrigonometryExercise5 for No.9911

Cur]
a
(A3 2 :
I =arcSin| —— | .2=arcCos| —_— .3 =arcCos(-1)
2 2 h
Nol = o 43 | @
4=arcTan(l) .5=arcSin| - T .6 = arcCos ; M
.7 =arcTan(0) .8 =arcSin(1) .9 = arcSin(-7) l]{
./ a

.1 =Tan( arcTan(—«\/? ) 2= Cos(arcSin(@J] 3= Tan(arcSln( D
4= Sin(arcTan(— ED 5= arcSin(Sin( njj 6= arcSin(Co E j
N02 = 13 3 > s
7= arcSin(Sin( 67‘c D 8= arcCos(Cos( D 9= arcTan(Tan( D
(s 3]) - ar=csfamcnlsu22 )] 2= cof s 27
.10 = Sec| arcSin| E .11 = Csc| arcCos| Si .12 = ArcSin| Cos| ArcSin| —

2
_ [ . [-Sjj ( 2)] . ( (-4Jj _
.1 =Tan| arcSin| — .2 =Cos| arcSin| = .3 = Sin| arcTan| —
8 7 3
(s
No3 =|.4= Csc[arcSm[— ?D = Tan(arcCos[ D .6 = Cot( arcTan(«/;)) ,

r-sefancol)) recolwetal!)] - sfunca 22

I 1 -1 1 1
A= Sin(arcCos[—J + arcSin[—D 2= Cos(arcCos[—J + arcSin[—D
4 2 2 2
. (1 (3
No4 = 3= Sm[2 arcSm[gD 4= 005(2 arcSm[Zn

177 Sn
S=arcTan(Cos(5 )+ Sin(3 1)) .6= Sec(arcCos(Sin(— TD + arcSin[Cos{TDj

~q~qa

~~NQSX®=-~-°8K

N—
L
T
L

oxl»—\o

~~NQX®s=-~28 K

~NQX@®=~= ¥

T
L

No5 =Sin(2 arcCos(a)),

bl

No6 = Cos(2 arcSin(a.)),

b}

NQoEK NCX
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TrigonometryExercise5 for No.10027

C ]
a
1= arcTan(«/;) .2=arcCos(2) .3 =arcTan(0) ¢
(1 A3 h
Nol — 4= arcSln(zj .5 = arcSin| — 5 j .6 =arcCos(1) e
, 1 J2 M
.7 =arcSin(-1) .8 = arcCos 3 .9 = arcCos T U
T
L -/ -
[ 1 (-1 . ) [ M ]
A= cos(arcCos[EjJ 2= Cos[arcSm(;jJ .3 =Sin(arcTan(-1)) u
2 n !
.4 =Tan| arcCos| ——— .5 =arcTan| Tan| — .6 = arcSin| Cos| — h
No2 = 2 3 @
B 137 T 13 T g s
.7 = arcSin| Sin .8 = arcCos| Cos| —— .9 =arcTan| Tan| — M
6 4 U
3 ‘ . -1 T
.10 = Csc| arcCos —T .11 = Sec| arcCos| Sin| — .12 = ArcCos| Sin| ArcCos| ? )
_ M_
(3 (A5 a
.1 = Tan| arcSin ; .2 = Sec| arcSin| — T .3 =Cot(arcTan(-3)) ¢
h
3 5 -4
No3=| 4= Cos[arcTan[— LD S= Sin(arcCos[£D .6 =Cos arcSm( D . .| @
2 9 9 M
. 1 3 -3 U
.7 = Sin| arcTan| — .8 =Tan| arcCos| = .9 =Csc| arcCos| —
L 6 5 4)/] T
L / .
"]
i ) 2 (1 1 (-1 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
5 2 6 3
2 5 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcCos| ~ , .| @
3 6
M
[ 15= (1l= . T
.5 =arcTan| Cos(4 ©) + Sin 5 .6 = Cot| arcCos| Sin| p + arcSin| Cos| — ; U
- - T
L/
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXKXKXKXKXKXKKKXKXKXKXKXKXKXKKKXKKXKXKKKXKKXKXKXKKXKXKX KKK KK KXKKKK




);9:0:0:0.9:0:0:0:9:0:0:0:0:0:0:0:0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.9.9.9.0.0:0.0:0:0:0:0:0:0:0.9.9.9.9.9.9.9.9.9.9.9.9.0.0.9.9.9.0.9.9.0.0.0:0:0:0:0:0:0:0:0.0.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0.9.9.0.9.0:0.0:0¢
X Math@MUT XXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKKXXKXKXXKXKXXKKXL KKK KKK KL KK KK KK KK KK KK KKKKKKKKME /1-6600305-00011XX
TrigonometryExercise5 for No.10063

C ]
2 a
.1 =arcCos(-1) .2=arcTan(-1) .3 =arcSin| - T ¢
J2 B h
Nol =| 4= arcSinL—] .5 =arcSin(0) 6= arcCos(—J , .| @
2 2 M
'E) 3 U
7= arcCos(—«\/;) .8 = arcCos T .9 = arcTan| T T
L J M
I V2 (1 S A2)) ] [M]
.1 = cos| arcCos 7 .2 =Cos| arcSin| .3 = Tan| arcSin| —T

)
s

M
a
t
T
.4 = Sin( arcTan(«/;)) 4 6= arcSin[Cos{z j h
No2 = 171 11 5n | @
.7 = arcSin| Sin| — .8 = arcCos| Cos| .9 =arcTan| Tan| —— M
3 6 U
(A3 (13 . (43 T
.10 = Csc| arcSin —7 .11 = Cot| arcCos| Sin| p .12 = ArcSin| Cos| ArcSin| T ,
]
4 (4 . J5 a
.1 = Cot| arcCos ? .2 = Csc| arcSin| ; .3 = Sin| arcTan T ¢
s 1 f
No3=| 4= Tan(arcCos(— —D .5 =Sec(arcTan(-6)) 6= Sin(arcCos[—]J . | @
9 5 M
. ﬁ (-3 U
.7 =Cos(arcTan(2)) .8 = Cos| arcSin T .9 = Tan| arcSin ; T
L J M
"
i ) 5 (3 2 (-1 ] a
.1 =Sin| arcCos| — |+ arcSin| = .2 = Cos| arcCos| = | + arcSin| — ¢
9 5 3 2
1 2 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| ~ , | @
4 3
M
. . Sn . 137
.S =arcTan(Cos(5 n) + Sin(-3 ©)) .6 = Sec| arcCos| Sin —? + arcSin| Cos U
- - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10120

C ]
3 | (1 a
.1 =arcTan| — T .2 =arcSin(0) .3 = arcSin 5 ¢
h
2 2
Nol=| 4=arcCos(2) JS= arcCos[Lj 6= arcSin(— LJ , .| @
2 2 M
-1 U
.7 = arcCos| ; .8=arcTan(1) .9 =arcCos(1) r
L i M
I /3 (1 f2)) 1 [M]
.1 = Tan| arcTan T .2 = Cos| arcSin| ; .3 = Tan| arcCos —7 a
b T !
.4 =Sin(arcTan(-1)) .5 =arcTan| Tan| — Z .6 = arcCos| Sin ; h
No2 = 177 3n 137 | @
.7 =arcSin| Sin[f ———— .8 =arcCos| Cos| ——— .9 =arcTan| Tan| — M
6 4 6 U
-1 (5= . . 4/; T
.10 = Cot| arcCos| E .11 = Csc| arcCos| Sin| ? .12 = ArcSin| Cos| ArcSin 7 )

2 -2
1= Cot(arcSin[— %D 2= Sec[arcCos(? j 3= Sin[arcCos(
4 2
No3=| 4= Tan(arcSin(g j S= Cos(arcTan(gJ] 6= Sin(arcTan(
-4 -5
7= Csc(arcTan(?D 8= Cos[arcSin(gD

o |

)]
)

e 2]

RV

~~NQSX®=-~18K

M
i ) 1 (-3 1 (3 i a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 7 2 4
1 1 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| — , .| @
5 4
M
Tn (= (17r . b
S= arcTan[Cos(—j + Sln[—jj 6= Sec[arcCos(Sm[ D + arcSln(Cos[— —JD U
L 2 2 6 6 | T
L ! .
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10367

C ]
-1 a
.1 =arcCos(1) .2 = arcSin ; .3 =arcTan(0) ¢
2 3 , h
Nol =| .4 = arcCos _T .5 =arcTan T .6=arcSin(-1) | .|l @
| eI
.7 =arcSin(-7) 8= arcSin[—] 9= arcCos(—J u
| 2 2 /] T
L -/ -
I 3 (1 (B ] [M]
.1 =Tan| arcTan| — T .2 = Tan| arcSin 5 .3 = Cos| arcSin| — 7 a
T b !
.4 =Sin(arcTan(1)) .5 = arcSin| Sin| — .6 = arcCos| Sin[ —— h
No2 = 3 6 @
17n 5w lln S
= arcSin(Sin(— Jj 8= arcCos(Cos(— j 9= arcTan(Tan(— j M
6 3 6 U
ﬁ . Tn . . «/5 T
.10 = Csc| arcCos —T .11 = Sec| arcSin| Cos T .12 = ArcSin| Cos| ArcSin 7 )
]
[ 7 (-3 a
.1 =Cos| arcTan 5 .2 = Cot( arcTan(«/g)) .3 = Sec| arcSin| ; P
V3 5 h
No3 =| .4 = Tan| arcSin T .5 =Csc| arcCos g .6 =Sin(arcTan(-1)) |, ,| @
5 ; /7 v
7= Tan[arcCos(-—D 8= Cos[arcSin(—D 9= Sin(arcCos[— —D u
L 9 8 11 /] T
L /]
Far]
[ . 1 (-3 4 (1 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 = Cos| arcCos| ~ | + arcSin| ~ ¢
6 5 5 2
4 1 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| ~ , L@
5 2
M
(9m . Tn ) b
S= arcTan[Cos(?ﬁ )+ Sln[TD 6= Sec(arcCos[Sm(— ?D + arcSm[Cos[— EJD U
L - T
L ! -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
0013]
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TrigonometryExercise5 for No.10372

Cur]
-1 1 a
.1 = arcSin ; .2=arcTan(-1) .3 =arcTan(0) ¢
5 h
Nol =| 4= arcSin(T] S=arcCos(l) .6=arcSin(0)| .| @
M
V2 , 1 U
.7 =arcCos| ——— 8=arcSin(7) .9=arcCos| =
L 2 2/] T
./ i

I ‘ 3 .
.1 =cos| arcCos 5 .2 = Sin| arcTan| .3 = Tan| arcSin|

3
i
.4 =Cos(arcTan(1)) = arcSln( Sln( ZD 6= arcCos(Sin(
17w 8n 1
7= arcSin(Sin(— p Jj 8= arcCos(Cos(TD 9= arcTan(Tan(
-1 T
0= Cot(arcCos(?D Al = Csc(arcCos( Sin( Dj 2= ArcCos[Sin(ArcCos -

_.1 = Cos(arcTan(%D 2= Cot(arcTan(%D 3= Sin(arcTan[— @D
No3=|.4= Sin(arcCos(?jj 5= Cos[arcSin(%/D 6= Sec(arcCos@J
7= aresif L)) =T aecod -] o= taaresin 22 ]|

N | —
.—‘m|;\\ ,
9 ~—

Na—

No2 =

N
~ N CE®F~5 K

5

~NCE®@F~13 x T—

L

M
[ 5 -5 3 1 ] a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ~ ¢
6 7 7 2
1 3 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcCos| = , .| @
3 5
M
. [ T= . Sn
.S =arcTan(Cos(4 n) + Sin(-3 ®)) .6= Sec(arcCos(Sm(?D + arcSln(Cos[— TDJ U
L - T
L ~/ .
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10375

C ]
5 Wy |
.1 =arcTan| — .2=arcTan(0) .3 =arcCos ;

N3
3 f
3 !
Nol=| 4= arcSin[— T] .5 =arcSin(0) .6=arcCos(1) |, .|l @
M
2 3
7= arcCos[Lj 8= arcSin[Lj .9 = arcSin(-5) U
L 2 2 i T
L -/ -
sl - s wenl3)) Y
.1 = Sin| arcSin| - ——— .2 =Cos| arcSin| — .3 =Tan| arcCos| —
2 2 2 a
2 !
) b . T
4= Sm(arcCos[TD S= arcCos(Cos(?D 6= arcCosLSm(— ED h
NOZ = > 5 @
I1n 8n g
.7 = arcSin| Sin| — .8 = arcCos| Cos| — .9 =arcTan| Tan| — —— M
6 3 6 U
Tn 2
.10 = Sec( arcTan(—«\/g)) Al = Sec(arcCos[Sin(— ?Dj A2 = ArcSin[Cos(ArcSin - gn] ]/w
]
. 1/; (5 2 a
.1 = Sec| arcSin| T .2 = Tan| arcSin| ; .3 = Cot| arcCos ; ¢
h
-3 2 4
No3=| 4= Cos(arcSin(—D 5= Sin(arcCos(LD 6= Csc(arcTan(—D , .| @
8 3 5 M
el . 4 4 U
.7 =Cos| arcTan| - —— .8 = Sin| arcTan| — .9 =Tan| arcCos| —
L 5 7 7))] T
L/ ]
C ]
I . 1 (2 3 (-3 a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
4 3 5 4
4 2 h
No4 = 3= Sin[Z arcSin(—D 4= 005(2 arcCos(—D , | @
9 3 M
5n (9= (7= ) 131
.5 =arcTan| Cos| — |+ Sin| — .6 = Sec| arcCos| Sin| — | | + arcSin| Cos| U
L 2 2 6 3 i T
(. ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U

T
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TrigonometryExercise5 for No.10426

C ]
- ﬁ - ;
.1 =arcCos(-1) .2=arcSin(1) .3 = arcCos| T ¢
h
3 3
Nol=| 4= arcSin(LJ S= arcSin(— LJ .6=arcCos(-5) | | @
2 2 M
-1
7= arcTan(—«\/; ) .8=arcTan(1) 9= arcCos(zJ (7{
!

A= Tan[arcTan[— @D 2= Tan(arcCos[@j .3 = Sin( arcTan(«/? )
.4 =Cos( arcTan(—«\/g)) S= arcSin( Sin(— ED 6= arcCos( Sin(— %D

N—
1
1
|

4

17n 57 131 S
7= arcSin(Sin(— p D 8= arcCos(Cos[TD 9= arcTan(Tan[— p jJ
i

2 11 -1
0= Cot(arcSin[— gn Al = Csc(arcCos( Sin( p j 2= ArcSin(Cos{ArcSin(;D]

) )
[ afcll) el IRk
-] et 2 (U% resfernf2) &

No2 =

~ N QRO ~5 K

3= Cos(arcSin

~ | W

&lw

2 7
7= Tan(arcSin[@D 8= Cot[arcCos[%

5 ) vnafuend )

w | L

M
[ 5 -5 1 4 i a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 = Cos| arcCos| — | + arcSin| = ¢
9 9 4 5
4 5 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , .| @
5 7
M
A (5m ) 8
.5 =arcTan| Cos(4 ) + Sin T .6 = Sec| arcCos| Sin| ? + arcSin| Cos T U
L - T
L ! .
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10628

Fa]
3 3 a
.1 = arcTan| T .2 =arcCos| — T .3 =arcTan(-1) ¢
h
2 2
Nol =| 4= arcSin[— Lj 5 =arcCos(0) 6= arcSin[Lj , | @
2 2 M
| I
.7 =arcSin(1) .8 =arcCos(2) .9 = arcCos T T
!

X

A ) . )] [M]
.1 = Sin| arcSin| T .2=Cos arcTan .3 = Sin| arcCos| —T a
J2 n t
.4 = Tan| arcSin| T .5 =arcTan| Tan| — 6 = arcCos| Sin| Z h
NO2 = > s @
(1= 5 Sw
.7 = arcSin| Sin| .8 =arcCos| Cos| ——— .9=arcTan| Tan| ——— M
6 6 6 U
2 3 | 3 T
.10 = Cot| arcCos| 7 Al = Tan arcSin| Cos| — T .12 = ArcCos| Sin| ArcCos| T ,
Fa]
, ﬁ 4 , 3 a
.1 = Csc| arcSin .2 = Tan| arcCos| 7 .3 = Sin| arcCos| ; ¢
5 7 h
No3=| 4= Sin(arcTan( jJ S= Sec[arcCOSL—D 6= Cos{arcTan(—D ., .| @
6 6 M
2
7= Cos(arcSm[ D 8= Tan(arcSin[gD .9 = Cot( arcTan(ﬂ/?)) (T]
L J M
C ]
i . 3 (1 4 (-1 a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| ¢
5 2 5 2
1 5 h
No4 = 3= Sin[Z arcSin(—D 4= 005(2 arcCos(—D , .| @
2 9
M
5n (3= (7= ) 131
.5 =arcTan| Cos| — |+ Sin| — .6 = Sec| arcCos| Sin| — | | + arcSin| Cos| U
L 2 2 6 3 i T
(. ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.11408

X

Cu]
3 a
.1 =arcTan(0) 2 =arcSin( 1) .3 = arcSin —T ¢
h
3 3
Nol=| 4= arcSin[%] 5= arcTan[[] .6=arcSin(3) || .| @
M
2 2
.7=arcCos(0) .8= arcCos[— ] = arcCos[Lj U
L 2 2 ) T
L / -
[ 1 . A3 -1 M ]
1 = cos| arcCos 5 .2 =Sin| arcTan| — 3 .3 = Tan| arcCos ; a
1 t
b T
4= Cos[arcSl (?D 5= arcTan(Tan( ZD 6= arcCos(Sm(ZD h
N02 = i 5 @
b S5n
7= arcSin[Sin( —D 8= arcCos(Cos( —D 9= arcTan(Tan( j M
6 4 U
. «/; . 4 1 T
.10 = Cot| arcSin| — T .11 = Tan| arcSin| Cos T .12 = ArcSin| Cos| ArcSin| 5 ,
_ M_
I 5 1 3 a
A= Tan[arcSin(gD 2= Cos[arcTan[gD 3= Sin(arcCos[ED P
h
5 5 3
No3=| 4= Tan(arcCo (—D 5= Cos(arcSin(— LD 6= Csc(arcTan(— £D , | @
7 6 2
M
A5 . 1 (3 U
.7 =Sec| arcCos| ———— .8 = Sin| arcTan| — .9 = Cot| arcSin| —
L 8 7 4 T
L/ ]
]
i ) 1 (-5 1 (1 | a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 = Cos| arcCos| ~ | + arcSin| = ¢
2 7 2 5
3 1 h
No4 = .3 =Sin| 2 arcSin| ~ .4 =cos| 2 arcSin| — , | @
7 6
M
7n . 117 . 1= . 8
.5 =arcTan| Cos| —— |+ Sin| — .6 = Cot| arcCos| Sin| — + arcSin| Cos| —/— U
L 2 2 3 i T
L ! -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.11560

]
2 .
1 =arcCos(0) 2= arcCos[ 5 ] .3 =arcSin(1)

-1 3
Nol=| 4= arcCos(;] 5= arcSin[— gj .6=arcTan(0) |,

t
h
@
M
«/; (1 U
.7=arcTan| ——— .8 = arcSin| ~ .9 =arcCos(-5)
L 3 2 ] T
!

1 ] B’a
A= cos[arcCos[EjJ .2 =Cos( arcTan(«/g ) 3= Tan[arcCos( J u
. ﬁ T . Sn t
.4 =Sin| arcCos| ———— .5 =arcTan| Tan| — .6 = arcSin| Cos| —— h
2 6
N02 = > s @
b 47 Iz
7= arcSin(Sin[—D 8= arcCos(Cos( jj 9= arcTan(Tan[—jJ M
6 6 U
-1 T ) 2 T
.10 = Sec| arcSin ? .11 = Sec| arcSin| Cos Z .12 = ArcCos| Sin| ArcCos| T ,
]
[ 3 5 i a
.1 =Cos| arcTan| — .2 =Sec| arcTan| — .3 =Tan| arcSm ¢
7 4 5
3 4 h
No3 =|.4=Cot| arcSin| —— .5 =Csc| arcCos| .6 = Tan| arcCos| — , | @
5 7 9
i ; L) |y
.7 = Sin| arcTan| —— .8 =Cos| arcSin| — .9 = Sin| arcCos| ———
L 2 5 7 )/] T
L/ ]
"
i 3 1 2 -1 i a
.1 = Sin| arcCos g + arcSin| 5 .2 =Cos| arcCos| g + arcSin| ? ¢
1 5 h
No4 = .3 =Sin| 2 arcCos| = .4 = cos| 2 arcSin| — , | @
5 6
M
. T . Tn . 107
5= arcTan[Cos( 10 ) + Sln[— ;D 6= Sec(arcCos[Sm[— _6 D + arcSln[Cos( 3 )D U
L g T
!

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQE NOE
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TrigonometryExercise5 for No.11806

M
- ﬁ - ;
.1 =arcCos —T 2= arcTan(—«\/g) .3 =arcCos(1) ¢
1 h
Nol=| .4=arcTan(1) 5= arcCos[EJ .6=arcSin(0) |, ,| @
M
. 4/; (-1 U
.7 =arcSin| = .8 =arcCos(3) .9 =arcSin| —
L 2 2] T
L/ ]
3 3 3 1 [M]
1= cos[arcCos(%D 2= Tan(arcCos[— gn 3= Cos(arcSin[%}J a
2 s !
4= Sin[arcCos(— —D 5= arcTan[Tan[ D 6= arcCos(Sin - J h
No2 = 2 6 g s @
N b 137 M
.7 =arcSin| Sin| - —— .8 = arcCos| Cos| —/— .9 = arcTan| Tan|
6 3 6 U
(1 n . 1 T
.10 = Cot| arcSin E .11 = Cot| arcSin| Cos g .12 = ArcCos| Sin| ArcCos E )
F ]
5 | (4 ;
.1 =Cos| arcTan| —T .2 =Cot| arcTan| ? .3 = Cos| arcSin| g ¢
h
5 6 4
No3=| 4= Tan[arcSin(— LD 5= Tan[arcCos £D 6= Sin(arcCos[—D , | @
6 7 7 M
(-3 . 6 -5 U
.7 = Csc| arcSin| — .8 = Sin| arcTan| = .9 = Sec| arcCos| —
7 7 6//] T
L -/ .
Fur]
i _ 2 (-1 1 (5 a
.1 = Sin| arcCos g + arcSin| ? .2 =Cos| arcCos| g + arcSin| g ¢
1 1 h
No4 = .3 =Sin| 2 arcCos| = .4 =cos| 2 arcCos| — , .| @
3 2
M
(19m (1= ) I1x
.5 =arcTan| Cos(8 m) + Sin 2 .6 = Cot| arcCos| Sin| p + arcSin| Cos 3 U
L - T
L / -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12219

Fur]
3 3 a
I =arcCos(l) .2= arcCos[gj 3= arcSin[— g} ¢
h
-1 2
Nol =| 4= arcCos(—J S =arcTan(-1) 6= arcSin[Lj , | @
2 2 M
| 3 U
.7 =arcCos(7) .8 =arcSin(-1) .9 =arcTan| T T
L J M
1 2 1 [ M]
A= cos[arcCos(ED .2 =Cos( arcTan(—«\/; )) 3= Tan[arcCos gD
. . (m . S5n
.4 =Sin(arcTan(1)) S= arcSln( Sln(—jj 6= arcSln(CosL—j
3 6
No2 =

wn
0\|:]
N N
RS pey

~—

137 I
7= arcSin(Sin[— p jJ 8= arcCos(Cos(— ED 9= arcTan(Tan(
(-1 ) 10m )
.10 = Sec| arcSin| ; .11 = Tan| arcSin| Cos 3 .12 = ArcCos| Sin| ArcCos| —

| e 2] s-cofssl?)
.1 =Cos(arcTan(-3)) .2=Csc| arcTan T .3 = Cos| arcSin E

No3=|.4= Tan[arcSin[%D S= Tan[arcCos(?jJ 6= Sin(arcTan(%D
- 7= Sin(arcCos[l—ZD 8= Sec(arcSin[%D 9= Cot[arcCosGD_

SSCE®s-~s ok

)

~NQRO®==-8 ¥

M
[ 5 3 1 -3 a
.1 =Sin| arcCos| — |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
9 5 3 5
5 1 h
No4 = .3 =Sin| 2 arcCos| = .4 = cos| 2 arcSin| = , | @
7 2
M
Tn (Tn (1= . Sn
.5 =arcTan| Cos| — |+ Sin| —— .6 = Sec| arcCos| Sin + arcSin| Cos| ———— U
L 2 2 6 6 i T
L / -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12954

C ]
[ A2 (A2 “
.l =arcCos(1) .2=arcSin —T .3 = arcSin T ¢
3 !
Nol=| 4= arcSin(ﬂ/;) .5 =arcTan(0) 6= arcCos(TJ , .| @
M
-1 . U
.7 = arcCos| ; .8 =arcSin(-1) .9=arcTan(1) T
L J M
sl 2 B[
.1 = Sin| arcSin| — 7 .2 =Cos(arcTan(1)) .3 =Tan| arcCos| — 7 a
t
T
.4 = Sin(arcTan(-1)) S= arcSln(Sm( D 6= arcSin(Cosl—D h
3
No2 = > s @
(1= 11n
.7 = arcSin| Sin| .8 = arcCos| Cos| — .9 = arcTan| Tan| M
6 6 U
2 1 T
0= Cot(arcTan(«/;)) .11 = Sec| arcSin| Cos T .12 = ArcSin| Cos| ArcSin| 5 ,

= Sec(arcSm

M
(4 L
.2 =Cos| arcSin| —— 3= Tan arcCos| — ¢
6 5 9
1 3 5 h
No3=| 4= Tan[arcSm —jJ S= Csc(arcCos[——D 6= Sln(arcTan D , .| @
3 M
U
T
/

5

2
rcofweral 1)) ol 2)] osifuecol2)|

M
[ 2 5 3 2 a
.1 =Sin| arcCos| = |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
3 6 7 3
2 3 h
No4 = .3 =Sin| 2 arcCos| = .4 =cos| 2 arcCos| ~ , .| @
5 4
M
3n (9m ) 137 . Sn
.3 =arcTan| Cos| —— |+ Sin| —— .6 = Csc| arcCos| Sin| — + arcSin| Cos| —//— U
L 2 2 6 3 i T
L / -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.12964

i -1
= arcCos(—]
2

2 =arcSin(-7)

3 =arcCos(-1)

Nol =

.4 =arcSin| ——
2

3
.7=arcTan(1) .8= arcSin(— g}

)
3)
")

6

ool )
el
remselsl-22]) s ecofcof 2
sl oo )

arcTan(?D .2 = Csc( arcTan(—v\/; ))
.4 = Sin| arcCos| — .5 = Cot| arcSin| —

7 5

2 (3
7= Sln(arcTan(gD 8= Cos[arcSm(gD

i 1 -1
= Sin[arcCos(—J + arcSin(—D
5 3
4
3= Sin[Z arcSin(gD

2= Tan[arcSin[—

|Fl '\’|w

JS= arcTan(Tan[
No2 =

.1 =Cos

VR

No3 =

No4 =

No5 = Sin(2 arcSin(a.)),

>

s

No6 = Cos(2 arcSin(a)),
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5 =arcSin(0) 6= arcTan(—

2= ArcSin[Cos(ArcSin -

3= Sec(arcCos[—

9= Tan[arcsm(‘ @D

3 1
2= Cos(arcCosE—] + arcSinE—D
4 3
(3
4= 005(2 arcSln(gD
7 (9m .
5= arcTan[Cos[Tj + Sln[TD 6= Sec(arcCos[Sm(—

ﬁ]
3 >
(lj
.9 =arcCos| ~
2) |

3= Sin[arcCos[

~NSE® -5y

Ne—
N—

RS
2
x

6= arcSin(Co

1

9= arcTan(Tan( p

)
@

=)
o-tufwcol )

~~NQX®=~28 X

137 .
_6 D + arcSm[Cos(

NOE NOE

|

ol

N—
L
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TrigonometryExercise5 for No.12971

X

oy
a
.1 =arcTan(0) .2 =arcSin(1) .3 =arcCos(-1) ¢
3 3
4= arcCos[— £] S= arcCos(LJ 6= arcCos(«/;) h
Nol = 2 2 . | @
1 2 M
7= arcSin(Ej 8= arcTan(«/;) 9= arcSin[— g] U
T
(. -/ -
_ ﬁ _ Far]
.1 =Tan( arcTan(—«\/; )) .2 = Sin( arcTan(«/g )) .3 =Cos| arcTan| — T a
[ t
2 b o m
4= Tan[arcCos(— —D S= arcCos(Cos[—D 6= arcCos(Sm(—D h
No2 = 2 3 3 > 5 @
. 17w Sn 3= M
.7 =arcSin| Sin| ——— .8 =arcCos| Cos| ——— .9 = arcTan| Tan| —
6 6 6 U
(1= ) (1 T
.10 = Cot(arcTan(-1)) .11 = Csc| arcCos| Sin| p .12 = ArcSin| Cos| ArcSin| 5 ,
]
. -1 7 (A5 a
.1 = Sin| arcCos| ? .2 =Cos| arcTan| 5 .3 = Cos| arcSin| —T ¢
h
-4 5 7
No3=| 4= Sin[arcTan(—D 5= Csc(arcSin(— j 6= Sec[arcTan(LD , | @
7 6 j/_ M
5 -3 5
7= Tan(arcCos(—D 8= Tan(arcSinL— J 9= Cot[arcCos(— —D v
L 9 4 7 )J] T
L /]
Cur]
I . ! (3 3 (-1 a
.1 =Sin| arcCos| T |+ arcSin| — .2 =Cos| arcCos| = | + arcSin| — ¢
3 4 5 3
2 4 h
No4 = .3 =Sin| 2 arcCos| ~ .4 = cos| 2 arcSin| — , | @
3 9
M
3n (Tn ) 137 . Sn
.5 =arcTan| Cos| —— |+ Sin| —— .6 = Cot| arcCos| Sin| — + arcSin| Cos| —//— U
L 2 2 3 | T
L / -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.13023

X

M
3 3 a
A= arcTan(gJ .2=arcCos(1) 3= arcSin[%} ¢
1 h
Nol =| .4=arcSin(-1) .5 =arcTan(-1) 6= arcCos(Ej , .| @
M
-1 3
7= arcSin[—J 8= arcCos[— Lj .9 =arcCos(7) u
L 2 2 i T
L -/ -
i 2 . )] ]
.1 = cos| arcCos T .2 =Sin(arcTan(-1)) .3 =Tan| arcCos —T a
ﬁ T . Sn !
.4 = Cos| arcTan T .5 =arcCos| Cos ; .6 = arcSin| Cos| ? h
NO2 = > s @
13n g S5n
.7 = arcSin| Sin| .8 =arcCos| Cos| — .9=arcTan| Tan| ——— M
3 6 U
1 _ 1371 3 T
.10 = Sec| arcSin E .11 = Csc| arcSin| Cos 3 .12 = ArcSin| Cos| ArcSin| — T ,
]
i (3 (3 51 ] a
A= Csc[arcSm(gD 2= Tan(arcSm(;D 3= Sec[arcTan ED P
2 . 1 (43 h
No3 =|.4=Tan| arcCos| — T .5 = Sin| arcCos| I .6 = Cos| arcSin| T , .| @
4 J3 6 u
7= Cot[arcCos(—D 8= Sin(arcTan(— —D 9= Cos[arcTan[-—D U
5 5 7)) ] T
L/ ]
"]
[ , 3 (2 1 (-1 ] a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| — | + arcSin| — ¢
5 3 2 6
2 3 h
No4 = 3= Sin[2 arcCos[—D 4= COS[Z arcSin[—D , .| @
3 8 M
. {17z ) 8n
.S =arcTan(Cos(2 n) + Sin(-3 w)) .6 = Cot| arcCos| Sin + arcSin| Cos T U
L - T
L/ ]
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.13033

C ]
/3 a
.1 = arcSin T 2= arcTan(«/;) .3 =arcCos(0) ¢
/2 i
Nol =| 4= arcCos(«\/;) S =arcTan(-1) 6= arcSin[— T] , .| @
B 2 o
.7=arcSin(-1) .8=arcCos| ——— .9 =arcCos| ———
L 2 2 T
L -/ -
_ ﬁ _ Cur]
.1 = Sin| arcSin 5 .2 =Sin| arcTan| — 3 .3=Cos(arcTan(1)) a
1 t
4= Tan(arc& (ED S= arcSin(Sin( jj 6= arcSm(Cos( D h
NOZ = 3 > 5 @
7= arcSin(Sin( Jj 8= arcCos(Cos( D 9= arcTan(Tan( J M
6 3 U
«/; 57 . (-1 T
.10 = Csc| arcCos| — T Al = Sec arcSin| Cos| — ? .12 = ArcSin| Cos| ArcSin| — )
C ]
1 5 a
A= Cot(arcTa (;D 2= Sm(arcTan(— {]J 3= Csc[arcSin(— %D ¢
h
-2 3 3
No3=| 4= Tan[arcCos(—D 5= Tan[arcSm(—D 6= Sin[arcCos(LD , | @
5 4 5 M
-1 1 1 U
.7 =Cos| arcSin| — .8 = Cos| arcTan| — .9 = Sec| arcCos| —
6 7 2 T
L/
C ]
[ ) 5 (1 1 (-1 i a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| = | + arcSin| — ¢
7 2 2 2
4 1 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| = , | @
5 5
M
K (3= ) 17n . Tn
S= arcTan(Cos[—j + Sln(—jj 6= Csc[arcCos( Sln[— D + arcSm(Cos[—D] U
L 2 2 6 3 i T
./ .

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcSin(a)),

b
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TrigonometryExercise5 for No.13197

3
= arcSin[TJ .2 =arcTan(-1) .3 =arcTan(0)

>

-1
Nol=| .4=arcSin(0) S= arcCos{;j .6 =arcSin(7)

2 2
.7=arcCos(-1) .8= arcCos[%) 9= arcSin[— gj

\HQ§®@“Q§:

- 3 5 . ]
A= Sin(arcSin[@]J .2 = Cos( arcTan(«/;)) 3= Sin(arcCos[%D a
2 !
. (= (m
4= Tan(arcSm(TD = arcSln(Sln(zjj 6= arcCos( Sm(ED h
No2 = > s @
[ . (5m b 137
.7 =arcSin| Sin| —/— .8 =arcCos| Cos| —— .9 =arcTan| Tan| — M
6 6 6 U
A . . «/5 T
.10 =Csc(arcTan(1)) .11 =Cot| arcCos| Sin ? .12 = ArcSin| Cos| ArcSin| —T ,
]
3 (=5 3 a
.1 = Tan| arcCos| g .2 = Cos| arcSin g .3 = Cos| arcTan| —T ¢
4 1 4 h
No3=|.4= Sec(arcCos[— J 5= Cot(arcTan(— j 6= Tan[arcSin(— ] , .| @
7 2 7 M
4 2 5
= Sin(arcTan(—D 8= Csc[arcSin(£ ] 9= Sin(arcCos[— £D u
L 3 7 8 /)] T
L /]
Cu]
[ . 4 (1 1 (-1 a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| 7 | + arcSin| — ¢
7 6 3 3
5 2 h
No4 = 3= Sin(2 arcCos(—D 4= cos[2 arcCos[—D , .| @
7 3 M
. (1= . 1=
.5 =arcTan(Cos(2 n) + Sin(-4 n)) .6= Cot(arcCos(Sm( jj + arcSln(Cos[ 3 Dj U
L - T
./ a

No5 =Sin(2 arcSin(a)),

bl

No6 = Cos(2 arcSin(a.)),

b}
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TrigonometryExercise5 for No.13907

C ]
-1 3 a
g = arcCos(;] 2= arcSin(— g} .3 =arcCos(-1) ¢
3 i
Nol =| 4= arcTan(—«\/?) 5= arcSinL—] .6=arcTan(1) |, .| @
2 M
2 . U
.7 =arcCos(-5) .8 = arcCos T .9 =arcSin(1) T
L i M
1 3 3 1 [M]
A= cos[arcCos[—jJ 2= Sin(arcCos(£J] 3= Tan[arcCos(— £D
2 2 2 a
/3 !
. . T . b
4= Cos(arcTan(— TD S= arcSm( Sln(— gjj 6= arcSm(Cos(? j h
NOZ = > 5 @
. (T= b Sn
.7 =arcSin| Sinf — .8 =arcCos| Cos| —— .9 =arcTan| Tan| —— M
6 4 6 U
«/5 . 8n . ) «/E T
.10 = Sec| arcCos| —T .11 = Cot| arcSin| Cos| T .12 = ArcSin| Cos| ArcSin —7 ,
]
[ 4 (1)) ] a
.1 =Cos(arcTan(-5)) 2= Tan[arcCos[;j] 3= Cos(arcSm(gD ‘
A2 3 h
No3 =| .4=Sec| arcSin T .5 =Csc(arcTan(1)) .6 = Sin| arcCos| 7 , | @
B 3 e
.7 =Sin| arcTan| ———— .8 = Tan| arcSin| — .9 = Cot| arcCos| ——
L 7 7 5 )/ T
(S , -
"]
[ . 3 (2 2 (-4 a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| 7 | + arcSin| — ¢
7 3 3 5
1 2 h
No4 = 3= Sin[2 arcSin(—D 4= cos[2 arcCos[—D ., .| @
4 7
M
3n . 1= . 1= . T
5= arcTan(Cosl—J + Sm(— D 6= Csc(arcCosESm(— D + arcSln(Cos(— —DJ U
L 2 2 6 6/)))] T
!

No5 =Sin(2 arcCos(a)),

b}

>

No6 = Cos(2 arcCos(a.)),

No T NCKX
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TrigonometryExercise5 for No.13991

C ]
(A3 3 a
.1 = arcSin —T .2=arcCos(0) .3 =arcTan| — T ¢
1 h
Nol =| 4= arcCos(Ej .5 =arcSin(1) .6=arcSin(3) | .| @
M
(A2 -1 U
.7 =arcTan(0) .8 =arcSin| —/— .9 =arcCos|
| 2 2) ] T
!

(R Y O | N )

.4 = Cos( arcTan(—«\/?)) = arcCosECos{S—nD 6= arcCosLSin(— %D
S (Tn Ix S
7= arcSln(Sln(?D 8= arcCos(Cos(— D 9= arcTan[Tan(Tjj

_.10 = Cot(arcSin(— @D Al = Csc(arcSin(COS(TnjD A2 = ArcSin[Cos(ArcSin(@]
_.1 = Sin(arcTan(— @]J 2= Sec(arcCos[?D 3= Tan[arcSin(?D |

1 -5
No3=| 4= Sin(arcCos[ZD = Cos[arcTan[ZD .6=Csc(arcTan(4)) |, ,

ol L)) socofusn) s-colmsu )]

[ 1 -1 1 3 )
A= Sin(arcCos{‘j + arcSin(—D 2= Cos(arcCos(—] + arcSinE—D
2 6 2 4
2 1
No4 = 3= Sin(Z arcSin(gD 4= COS(z arcCos(gjj

Sn 17
.S =arcTan(Cos(3 n)+ Sin(3 w)) .6= Csc[arcCos( Sin[— ?D + arcSin(Cos[ 3 Dj

N | —

No2 =

~ N QRO ~ 5 K

Ne—
L

~~NQSX®=-~-°8K

N QE®=~ 8 g

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcCos(a.)),

b
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TrigonometryExercise5 for No.14005

C ]
1 3 a
A= arcSin[EJ 2= arcTan(%J .3 =arcSin(1) t
3 !
Nol=| 4=arcSin(7) .5= arcSin[— —] 6= arcTan(ﬂ/—) , .| @
M
-1 3
7= arcCos[—j .8 =arcCos [ij =arcCos(-1) v
L 2 2 J T
!

T

_ A= Tan(arcTan(— %}j 2= Cos(arcSin(@]] .3 =Sin(arcTan(1)) |
feled 2] eseef]) eedsdz) |
- {22 )% e 2]

[o)}

6
2n
8= arcCos(Cos( T

~NCE® ~5 K

J2 . n 3
.10 = Sec| arcCos| — T .11 = Tan| arcSin| Cos| — Z .12 = ArcCos| Sin| ArcCos| T
"]
(46 1 4 a
.1 = Tan| arcSin T .2 = Cot| arcCos 5 3 = Csc| arcTan g t
h
. -5 (3
No3 =| .4 =Sin| arcTan| — .5 = Tan| arcCos| — .6 = Cos| arcSin| = ., | @
7 7 1’7/_ M
-5 -2 2
7= Cos[arcTan(—D 8= Sec(arcSln[—D 9 Sin[arcCos(— —D 4
L 3 7 )] T
L/ ]
C ]
[ , 5 (3 4 (-3 a
.1 = Sin| arcCos| — |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
8 8 7 7
2 3 h
No4 = 3= Sin(Z arcCos[—D 4= cos[2 arcCos[—D , | @
7 4
M
. (5m ) 4
.5 =arcTan(Cos(4 n) + Sin(-2)) .6= Cot(arcCos(Sm(?D + arcSm(Cos{TD] u
L T
(. ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.14157

_ 5 YT
I =arcSin(-1) .2= arcCos[— g} 3= arcTan[gj

3 3
Nol=| 4=arcSin(-3) .5= arcSin(— g} 6= arcSin[%]

1
7= arcCos[EJ .8 =arcTan(-1) .9 =arcCos(0)

@:

) ocled)  aesled )
|

~NCE@T~a g

A= cos[arcCos

No2 =

2
1 b4
4= Tan(arc& (5 S= arcSm(Sm( jj 6= arcCosESin(ZD
13 T T > s
7= arcSin(Sin( j 8= arcCos(Cos( D 9= arcTan(Tan( Jj
0= Csc[arcCos(TD .11 =Sec arcSm(Cos( TJD 2= ArcSm[Cos(ArcSm( 2 Dj

.1 =Cos arcSinGD 2= Tan(arcSin[— gn 3= COS(arcTan(?j ]
No3=| 4= Sin[arCCOS(§jj 5= cgc[arcCosgé_D 6= Tan(arcco{ 32 D
7= Sec[arcSin(iD 8= Sin(arcTan(TSD 9= Cot arcTanCD |

~~NCX®= -8 K

[V}

~NCE®=~a %

M
[ 3 (1 1 (- T a
.1 = Sin| arcCos| — |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
8 2 4 6
3 2 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| — , .| @
4 5
M
. (5m ) 101
.S =arcTan(Cos(3 n) + Sin(w)) .6= Cot(arcCos[Sm(?D + arcSln[Cos[ 3 Dj U
L g T
L -, -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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